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Practice internal assessment resource. Pāngarau Kaupae 2 - Mathematics and Statistics Level 2.
Supports practice assessment against:
Achievement Standard 91264 version 3 – Use statistical methods to make an inference
Paerewa Paetae 91264 Putanga 3 – Te whai i ngā tikanga o te tūhuratanga tauanga hei whakaputa hīkaro  
4 credits
This resource:
· clarifies the requirements of the standard
· supports teachers to understand assessment of the standard
· provides students with a practice assessment task
· is supported by teaching and learning activities available on the Waka Kotahi Education Portal
Teacher guidelines
The following guidelines are designed to support teachers to carry out valid and consistent assessment using this practice internal assessment resource. 
Teachers need to be very familiar with the outcome being assessed by Achievement Standard Mathematics and Statistics 91264. The achievement criteria and the explanatory notes contain information, definitions, and requirements that are crucial when interpreting the standard and assessing students against it.
Context
This assessment activity requires students to pose a comparative question based on the fictional New Zealand Vehicle and Road Safety Study, investigate the question, and present a report of their results. 
This fictional study provides students with the opportunity to use the PPDAC cycle to investigate vehicle stopping distances. There are 120 records and five variables. The data is located at the Waka Kotahi Education Portal.
Mathematics and statistics - Waka Kotahi Education Portal
Conditions 
This assessment activity requires multiple sessions. Confirm the timeframe with your students. Students must work independently. Students may use suitable technology, including statistical software for graphing and preparation of summary statistics.
Ensure the students have relevant background information about the dataset.
The format of the presentation could be, but is not restricted to, a computer slideshow, a written report, or an oral presentation. 

Resource requirements 
Provide students with copies of the Level 2 Mathematics and Statistics formulae sheet.
Provide students with access to the NZ Vehicle and Road Safety Study dataset, either directly via the NZTA Education Portal or by distributing copies of the data file located on the maths page of the Education Portal.
Mathematics and statistics - Waka Kotahi Education Portal
Additional information 
As this dataset has only 120 records (and this is a practice assessment task) it may be advisable to have students use the full dataset, rather than take a sample. They can be told that the sample has already been taken. They can still write up how the sample would have been taken.
This task is not suitable as a summative internal assessment task as the dataset does not require sampling, the dataset is fictional, and the assessment schedule with examples of expected student responses is in the public domain.

How far until it stops?
Internal assessment resource 
Student instructions
Paerewa Paetae Pāngarau 91264: Te whai i ngā tikanga o te tūhuratanga tauanga hei whakaputa hīkaro.
Achievement Standard Mathematics and Statistics 91264: Use statistical methods to make an inference.
Credits: 4
	Paetae – Achievement
	Kaiaka – Achievement with Merit
	Kairangi – Achievement with Excellence

	Use statistical methods to make an inference.
	Use statistical methods to make an inference, with justification.
	Use statistical methods to make an inference, with statistical insight.


Introduction
The 2-second following distance rule gives you as a driver a way to check you have enough distance between the vehicle in front of you and your own vehicle in case you need to stop suddenly. In some circumstances, for example if the road is icy or slippery, the 4-second following distance rule should be used. 
You can find out more about following distances using the free learn-to-drive resource Drive: 
Following distances (Drive)
A recent study was carried out in New Zealand by a group of people interested in vehicle and road safety. During the study the stopping distances of numerous drivers, using a variety of makes and models of cars, on different road surfaces, were measured. Hundreds of measurements were taken over the course of the study. 
The total stopping distance of a car can be broken down into two major components, the reaction distance and the braking distance. The reaction distance is the distance it takes for a driver to react to the need to stop and start to apply the brakes. The braking distance is the distance travelled from applying the brakes until the car comes to a complete stop. Braking distance depends on the characteristics of the vehicle and the road surface.
This assessment activity requires you to review the NZ Vehicle and Road Safety Study dataset, pose a comparative question on a topic that will provide evidence for why the stopping distances rule(s) are useful to drivers that can be answered using the dataset, investigate the question, and present a report of your findings.


Task
The NZ Vehicle and Road Safety Study dataset contains 120 records and five variables and is located at Waka Kotahi’s Education Portal.
Mathematics and statistics - Waka Kotahi Education Portal
The five variables and the details of the measurements made were:
	Variable
	Measurement made

	Conditions
	Road conditions: Wet or dry.

	Speed
	Initial speed before braking: 40 km/h or 50 km/h.

	Reaction distance
	The distance travelled before applying the brakes, in metres.

	Braking distance
	The distance travelled between applying the brakes and coming to a complete stop, in metres.

	Total stopping distance
	Reaction distance + braking distance, in metres.



Working independently, carry out a comparative statistical investigation using the NZ Vehicle and Road Safety Study and prepare a report.
Statistical investigation process
· Pose an appropriate comparative investigative question that can be answered using the data provided in the NZ Vehicle and Road Safety Study dataset. 
· In this standard you are required to select random samples to use to answer your investigative question. For this practice assessment your teacher will tell you if they want you to use the full sample provided or to practise taking a sample from this dataset. You need to consider your sampling method and your sample size.
· Select and use appropriate displays and measures.
· Discuss sample distributions by comparing features of them.
· Discuss sampling variability, including the variability of estimates.
· Make an inference.
· Conclude your investigation by answering the investigative question.
Report structure
Introduction: The comparative investigative question and purpose of the investigation.
Method used to select samples and collect data.
Results from your data including analysis.
Discussion of your findings.
The quality of your discussion and reasoning and how well you link the context to different stages of the statistical enquiry cycle will determine the overall grade. 
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Assessment schedule: Mathematics and Statistics 91264 How far until it stops?
	Evidence/Judgements for Achievement 
	Evidence/Judgements for Achievement with Merit
	Evidence/Judgements for Achievement with Excellence

	The student shows evidence of using each component of the statistical enquiry cycle to make an inference.
The student has:
· specified the purpose of the investigation or has a clear investigative question
· selected random samples with evidence of how this selection was made. The selection is sufficient and relevant to the investigative question
· selected and used appropriate displays and measures
· discussed the sample distributions
· discussed sampling variability, including variability of estimates
· made a correct inference
· communicated findings clearly.

For example:
Problem
The question identifies the population, the groups, the variable together with relevant units and is a comparative question about the population medians:

In the NZ Vehicle and Road Safety Study, is the median reaction distance of vehicles with wet road conditions greater than the median reaction distance of vehicles with dry road conditions?

Plan and data
An appropriate random sample from each group has been generated and the corresponding population data collected.
The sampling method is named and sample size stated.

A simple random sample from the NZ Vehicle and Road Safety Study dataset was taken. The total sample size was 120, with 60 in each group (wet and dry).

Analysis
Summary statistics have been calculated (or implied by the box plot) for each group and there is a dot plot and box and whisker graph for each set of sample data.
The informal confidence intervals for the population medians have been found (or implied by being shown on the box plot).
The distributions are discussed in context - at least two comparative features of the sample distributions (shape, overlap, shift, spread, middle 50%, unusual or interesting features) have been identified.

The middle 50% of reaction distances for wet conditions (6.8-9.8 metres) are positioned just within the middle 50% of reaction distances in dry conditions (6.7-10.0 metres). This means that in the sample, the central half of vehicle reaction distances in dry conditions and in wet conditions are similar. 

For both groups (dry and wet conditions), most of the reaction distances (approximately 75%) appear to be grouped around 5-10 metres, with the remaining approximately 25% of vehicle reaction distances reasonably evenly spread between 10-19 metres. This means that in the sample, the distributions of vehicle reaction distances for both dry and wet conditions appear to be right skewed.

I have used software to calculate the informal confidence intervals for the population median vehicle reaction distances for dry and wet conditions. I am pretty sure that the median reaction distance in dry conditions for the NZ Vehicle and Road Safety Study is somewhere between 7.3 and 8.5 metres. I am pretty sure that the median reaction distance in wet conditions for the NZ Vehicle and Road Safety Study is somewhere between 7.5 and 8.6 metres.

Conclusion
The conclusion includes an answer to the investigative question that is consistent with the analysis and references the population. (The answer to the investigative question may be part of the inference.) 
Sampling variability has been discussed - the fact that different samples will give different intervals or estimates of population parameters has been indicated.
An inference (may be part of the analysis) is made using the informal confidence intervals, for example the student has stated they are pretty sure a population median will lie within a correctly calculated interval.

If I took another sample from the NZ Vehicle and Road Safety Study dataset, I would expect the summary statistics and distributions to be different as the sample would be different. This means I would also calculate different informal confidence intervals. However, the informal confidence intervals I then calculate would still be likely to capture the median reaction distances for wet and dry conditions in the NZ Vehicle and Road Safety Study.

My investigative question was: In the NZ Vehicle and Road Safety Study, is the median reaction distance of vehicles with wet road conditions greater than the median reaction distance of vehicles with dry road conditions?

There is not enough evidence to make the call that the median reaction distance of vehicles with wet road conditions is greater than the median reaction distance of vehicles with dry road conditions in the NZ Vehicle and Road Safety Study.


	The student will make an inference, showing evidence of linking each component of the statistical enquiry cycle to the context, and/or populations and referring to evidence in support of statements made.
The student has:
· specified the purpose of the investigation or has a clear investigative question. The purpose or question link to the situation being investigated
· selected random samples. The selection is sufficient and relevant to the investigative question. Reference to decisions about method or sample size is made
· selected and used appropriate displays and measures
· discussed the sample distributions, using supporting evidence that is linked to the context
· discussed sampling variability, including variability of estimates
· made a correct supported inference
· communicated findings clearly, and has linked findings to the context and populations.

For example:
Problem
The question identifies the population, the groups, the variable together with relevant units and is a comparative question about the population medians.

In the NZ Vehicle and Road Safety Study, is the median total stopping distance of vehicles travelling at 50 km/h greater than the median total stopping distance of vehicles travelling at 40 km/h?

Plan and data
An appropriate random sample from each group has been generated and the corresponding population data collected. Contextual reasons have been given for deciding on the use of a simple random sample or the sample size.

A simple random sample from the NZ Vehicle and Road Safety Study dataset was taken. The total sample size was 120, with 60 in each group (40 km/h and 50 km/h).

A simple random sampling method was used as it is easy to select a sample using software and each trial in the NZ Vehicle and Road Safety Study has an equal chance of being selected. This means the sample is not biased. An example of a biased sample would be if we selected only dry conditions for 50 km/h and only wet conditions for 40 km/h. A non-biased sample means we can assume the sample is representative of all vehicle stopping distances in the NZ Vehicle and Road Safety Study.

Analysis
Summary statistics have been calculated (or implied by the box plot) for each group and there is a dot plot and box and whisker graph for each set of sample data.
The informal confidence intervals for the population medians have been calculated and plotted.
The distributions are discussed in context - At least two comparative features of the sample distributions have been identified and comments have been linked to the investigative question and the population.
An inference is made using the informal confidence intervals, for example the student has stated they are pretty sure the population medians will lie within a correctly calculated interval.

The middle 50% of total stopping distances of vehicles at 50 km/h (23.8-35.8 metres) are positioned at higher values than the median total stopping distance of vehicles at 40 km/h (21.1 metres). This means that in the sample, at least 75% of total stopping distances at 50 km/h are further than the shortest 50% of the total stopping distances at 40 km/h. This may suggest that back in the population of the NZ Vehicle and Road Safety Study the total stopping distances will tend to be further when the initial speed is 50 km/h compared to when the initial speed is 40 km/h. 

The interquartile range (IQR) for the total stopping distances of vehicles at 40 km/h (7.1 metres) is just over half that of the IQR for total stopping distances of vehicles at 50 km/h (12.0 metres). This means that in the sample, the spread of the middle 50% of total stopping distances of vehicles at 50 km/h is almost twice the spread of the middle 50% of total stopping distances of vehicles at 40 km/h, which are more clustered around the median. If this is also the case back in the population of the NZ Vehicle and Road Safety Study, following distances at higher speeds will need to account for this greater variability, ensuring enough space is left to accommodate the higher stopping distances required.

I have used software to calculate the informal confidence intervals for the population median total stopping distances of vehicles at 40 km/h and 50 km/h. I am pretty sure that the median total stopping distance of vehicles at 40 km/h for the NZ Vehicle and Road Safety Study is somewhere between 19.7 and 22.4 metres. I am pretty sure that the median total stopping distance of vehicles at 50 km/h for the NZ Vehicle and Road Safety Study is somewhere between 26.6 and 31.2 metres.

Conclusion
[bookmark: _Hlk12786380]A conclusion about the population medians has been made and justified using the informal confidence intervals. Justification comments are in context and include an interpretation of the informal confidence intervals. There is an answer to the investigative question with contextual comments that are supported by references to specific evidence from the analysis, for example, overlap of intervals. (The answer to the investigative question may be part of the inference.)
Sampling variability has been discussed - the fact that different samples will give different intervals or estimates of population parameters has been indicated. Comments, in context, related to the interval have been made, for example, that such an interval would contain the population median in most cases.
An understanding of the difference between the sample calculations and population estimates has been demonstrated.

If I took another sample from the NZ Vehicle and Road Safety Study dataset, I would expect the summary statistics and distributions to be different as the sample would be different. This means I would also calculate different informal confidence intervals. However, the informal confidence intervals I then calculate would still be likely to capture the median total stopping distances of vehicles at 50 km/h and 40 km/h in the NZ Vehicle and Road Safety Study.

My investigative question was: In the NZ Vehicle and Road Safety Study, is the median total stopping distance of vehicles travelling at 50 km/h greater than the median total stopping distance of vehicles travelling at 40 km/h?

The informal confidence intervals of the median total stopping distances for the NZ Road and Vehicle Safety Study for vehicles at 50 km/h and 40 km/h do not overlap and the calculated informal confidence interval for 50 km/h (26.6-31.2 metres) is higher than that for 40 km/h (19.7-22.4 metres). So, I am pretty sure that in the NZ Vehicle and Road Safety Study, the median total stopping distance of vehicles travelling at 50 km/h is greater than the median total stopping distance of vehicles travelling at 40 km/h. 


	The student will make an inference, showing evidence of integrating statistical and contextual knowledge throughout the statistical enquiry cycle. They may reflect on the process or consider other explanations.
The student has:
· specified the purpose of the investigation and the investigative question, and these are relevant to the situation being investigated
· selected random samples. The selection is sufficient and relevant to the investigative question. Reference to decisions about method and sample size is made
· selected and used appropriate displays and measures
· discussed the sample distributions, integrating statistical and contextual knowledge
· discussed sampling variability, including variability of estimates
· made a correct supported inference
· communicated findings clearly and has linked findings to the context and populations. They have justified their inference, integrating contextual and statistical knowledge, or they have reflected about the process, or they have considered other explanations.

For example:
Problem
The question identifies the population, the groups, the variable together with relevant units and is a comparative question about the population medians. There is contextual reflection or explanations relating to aspects of the question.

I am interested in understanding how the 2-second following distance rule helps to maintain a safe following distance when driving. The total stopping distance is the sum of the reaction distance and the braking distance. If the reaction time remains constant, the reaction distance is going to be further at higher speeds (as distance = speed x time). Also, I think that the braking distance would be further for a car travelling faster. So, I would expect that a car travelling faster would require a further total distance to come to a stop than a car travelling at a slower speed. The 2-second rule would allow for a stopping greater distance with higher speeds, again using distance = speed x time.

The question I am going to investigate to help understand the 2-second rule is: In the NZ Vehicle and Road Safety Study, is the median total stopping distance of vehicles travelling at 50 km/h greater than the median total stopping distance of vehicles travelling at 40 km/h?

My hypothesis is that the median total stopping distance of vehicles travelling at 50 km/h will be greater than the median total stopping distance of vehicles travelling at 40 km/h in the NZ Vehicle and Road Safety Study dataset. 

Plan and data
An appropriate random sample from each group has been generated and the corresponding population data collected. Contextual reasons have been given for deciding on the use of a simple random sample and the sample size.

A simple random sample from the NZ Vehicle and Road Safety Study dataset was taken. The total sample size was 120, with 60 in each group (50 km/h and 40 km/h).

A simple random sampling method was used as is easy to select a sample using software and each trial in the NZ Vehicle and Road Safety Study has an equal chance of being selected. This means the sample is not biased. An example of a biased sample would be if we selected only dry conditions for 50 km/h and only wet conditions for 40 km/h. A non-biased sample means we can assume the sample is representative of all vehicle stopping distances in the NZ Vehicle and Road Safety Study.

I expect that there will be a lot of variation in total stopping distances due to differences in reaction times of drivers, characteristics of the vehicles, and the road conditions, so I will want to use a large sample size (not just 30 per group). A sample size of 120 was used. This sample size is big enough to give me enough in each group to be able to describe the total stopping distances distributions, be confident of the informal confidence intervals I calculate for the median total stopping distance for each of the two groups (wet and dry road conditions), and then make a conclusion.

Analysis
Summary statistics have been calculated (or implied by the box plot) for each group and there is a dot plot and box and whisker graph for each set of sample data.
Informal confidence intervals for the population medians have been calculated and plotted.
The distributions are discussed in context - at least three comparative features of the sample distributions have been identified and contextual knowledge has been used to link comments to the investigative question and the population.

The middle 50% of total stopping distances of vehicles at 50 km/h (23.8-35.8 metres) are positioned at higher values than the median total stopping distance at 40 km/h (21.1 metres). This means that, in the sample at least 75% of the total stopping distances of vehicles at 50 km/h are further than the shortest 50% of the total stopping distances of vehicles at 40 km/h. This may suggest that back in the population of the NZ Vehicle and Road Safety Study the total stopping distances will tend to be further when the initial speed is 50 km/h compared to when the initial speed is 40 km/h. My original thought was that the total stopping distances at 50 km/h would typically be greater than that at 40 km/h as this is consistent with why the recommended following distance is 2 seconds and not a fixed distance. The 2 second following distance allows for a greater distance to stop at higher speeds. 

The interquartile range (IQR) for the total stopping distances of vehicles at 40 km/h (7.1 metres) is just over half that of the IQR for total stopping distances of vehicles at 50 km/h (12.0 metres). This means that in the sample, the spread of the middle 50% of total stopping distances of vehicles at 50 km/h is almost twice the spread of the middle 50% of total stopping distances at 40 km/h, which are more clustered around the median. If this is also the case back in the population of the NZ Vehicle and Road Safety Study, following distances at higher speeds will need to account for this greater variability, ensuring enough space is left to accommodate the higher stopping distances required.

In the distribution of the total stopping distances of vehicles at 50 km/h it looks like there might be two clusters of data, one cluster from about 20-27 metres, the other cluster from about 30-45 metres. No obvious clusters can be seen in the total stopping distances with an initial speed of 40 km/h. This may mean that in the sample, there are other groups. Looking at the data in the sample for vehicles travelling at 50 km/h more closely, I can see that many of the total stopping distances in the higher cluster are with a wet surface, whereas for the lower cluster many of the total stopping distances appear to be when the surface is dry. This would make sense that total stopping distances are different in wet and dry conditions as the Drive site (drive.govt.nz) showed us that when it’s wet, we need to use the 4-second following distance rule to allow a further distance to stop. What surprised me was that I cannot see the same wet and dry groups as clusters in the sample of stopping distances at 40 km/hour. To investigate this further I have used software to show dry and wet conditions with different colours and symbols. This shows that for both speeds, there are two groups of total stopping distances, with the higher group (further distance) being for wet conditions and the lower group (shorter distance) for dry conditions. This means at both low and high speeds, the 4-second rule should be used if the road is wet, and the 2-second rule can be used for the dry road. 

I have used software to calculate the informal confidence intervals for the population median total stopping distances of vehicles at 40 km/h and 50 km/h. I am pretty sure that the median total stopping distance of vehicles at 40 km/h for the NZ Vehicle and Road Safety Study is somewhere between 19.7 and 22.4 metres. I am pretty sure that the median total stopping distance of vehicles at 50 km/h for the NZ Vehicle and Road Safety Study is somewhere between 26.6 and 31.2 metres.

Conclusion
[bookmark: _Hlk12786411]A conclusion about the population medians has been made and justified using the informal confidence intervals. There is an answer to the investigative question with contextual comments that are supported by references to specific evidence from the analysis, for example, overlap of intervals. An understanding of the difference between the sample calculations and population estimates is demonstrated. The student has reflected on the process or has given explanations by considering, in context, the effect of aspects such as sample size on the estimate. They have discussed aspects of the investigation in context, such as a limiting factor in the definition of the groups, and have identified their impact on the reliability of estimates.
Sampling variability has been discussed - the fact that different samples will give different intervals or estimates of population parameters has been indicated. Comments, in context, related to the interval have been made, for example, that such an interval would capture the population median most of the time.

If I took another sample from the NZ Vehicle and Road Safety Study dataset, I would expect the summary statistics and distributions to be different as the sample would be different. This means I would also calculate different informal confidence intervals. However, the informal confidence intervals I then calculate would still be likely to capture the median total stopping distance of vehicles at 50 km/h and at 40 km/h in the NZ Vehicle and Road Safety Study.

My investigative question was: In the NZ Vehicle and Road Safety Study, is the median total stopping distance of vehicles travelling at 50 km/h greater than the median total stopping distance of vehicles travelling at 40 km/h?

The informal confidence intervals of the median total stopping distances for the NZ Road and Vehicle Safety Study for vehicles at 50 km/h and 40 km/h do not overlap and the calculated informal confidence interval for 50 km/h (26.6-31.2 metres) is higher than that for 40 km/h (19.7-22.4 metres). So, I am pretty sure that in the NZ Vehicle and Road Safety Study, the median total stopping distance of vehicles travelling at 50 km/h is greater than the median total stopping distance of vehicles travelling at 40 km/h.

In my analysis I discovered that there were groups in the total stopping distances for both the 40 km/h and 50 km/h distributions – the wet road conditions group which had further distances than the dry road conditions group. This helps me understand both why the 2-second following distance is needed as it gives a larger distance to vehicles travelling at higher speeds, and it also provides insight into why the 4-second following distance is needed in wet road conditions as this also means the stopping distance has increased compared to dry conditions. 

Given that there appears to be a difference between the total stopping distances for wet and dry road conditions, if I was to repeat this inquiry, I would consider using a stratified sampling method. In this I would use the same proportions of dry and wet in the sample that are in the population. This involves splitting into strata (wet and dry road conditions) and taking a random sample from within each stratum. The advantage over a simple random sample is that it should give a more accurate estimate of the medians for the NZ Vehicle and Road Safety Study than a simple random sample, which might not have the same proportions of dry/wet as the population, a variable we know makes a difference to total stopping distances. The disadvantage to stratified sampling over simple random sampling in this context is that it would take longer and I would need to know the population proportions for wet and dry road conditions in the NZ Vehicle Road Safety Study.

What I am wondering about this inquiry is how the findings would transfer to real driving conditions in New Zealand. I imagine it’s very different when you are anticipating being asked to stop suddenly in such a study, compared to needing to scan for hazards and make the decision whether to stop suddenly. Because the finding is consistent with the 2-second rule, the overall conclusion that a higher speed of 50 km/h has a greater median total stopping distance than the median at 40 km/h are likely to be transferable. However, I would expect the medians would be higher in real world driving conditions due to factors like needing to scan for hazards, passenger distractions, night-time driving, etc. 

Further investigations related to this could include understanding what happens at even higher and lower speeds, does this difference still occur and if so, what type of relationship is there between total stopping distance and speed? A bivariate investigation using a variety of speeds would be useful. It would also help understand if there is an increased variation in total stopping distances as speed increases, as was seen in the spread of the middle 50% of total stopping distances at 50 km/h which was greater than the spread of the central half of total stopping distances at 40 km/h in the sample. 


Final grades will be decided using professional judgement based on a holistic examination of the evidence provided against the criteria in the achievement standard.
[bookmark: _Hlk11663694]
Graphs, summary statistics, and confidence intervals for the question: In the NZ vehicle and road safety study, is the median reaction [image: ]distance of vehicles (metres) for wet road conditions greater than the median reaction distance of vehicles (metres) for dry road conditions?

	
	Dry
	Wet

	Minimum
	5.4
	5.2

	LQ
	6.675
	6.775

	Median
	7.90
	8.05

	UQ
	9.975
	9.750

	Maximum
	18.9
	18.3

	Sample size
	60
	60



Summary statistics:













Informal confidence intervals:

	
	Lower limit (m)
	Upper limit (m)

	Dry
	7.261
	8.539

	Wet
	7.474
	8.626


     










Graphs, summary statistics, and informal confidence intervals were calculated using iNZight.

Graphs, summary statistics, and confidence intervals for the question: In the NZ Vehicle and Road Safety Study, is the median total stopping distance of vehicles (metres) travelling at 50 km/h greater than the median total stopping distance of vehicles (metres) travelling at 40 km/h?
[image: ]
Summary statistics:
	
	40 km/h
	50 km/h

	Minimum (m)
	13.7
	19.8

	LQ (m)
	16.88
	23.83

	Median (m)
	21.05
	28.90

	UQ (m)
	24.02
	35.78

	Maximum (m)
	31.7
	48.9

	Sample size
	60
	60















Informal confidence intervals:


	
	Lower limit (m)
	Upper limit (m)

	40 km/h 
	19.67
	22.43

	50 km/h
	26.59
	31.21


     










Graphs, summary statistics, and informal confidence intervals were calculated using iNZight.


Additional graph for Excellence:
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